Table Supplement. Anisotropic atomic displacement parameters for weeksite (in Å2) (crystal C). 
	Atom
	U11
	U22
	U33
	U12
	U13
	U23

	U
	0.00807(16)
	0.01867(17)
	0.00959(17)
	0.00057(11)
	0.00403(12)
	0.00072(11)

	K1
	0.0280(18)
	0.0310(17)
	0.057(3)
	0
	0.0224(17)
	0

	K2
	0.058(3)
	0.040(2)
	0.089(4)
	0
	0.055(3)
	0

	Si1
	0.0133(15)
	0.0244(16)
	0.0121(16)
	0
	0.0046(13)
	0

	Si2
	0.0094(9)
	0.0180(10)
	0.0080(10)
	0.0011(7)
	0.0038(8)
	-0.0010(8)

	Si3
	0.0220(12)
	0.0156(10)
	0.0192(12)
	-0.0011(8)
	0.0095(10)
	0.0000(8)

	O1
	0.020(3)
	0.030(3)
	0.052(4)
	-0.005(3)
	0.018(3)
	-0.002(3)

	O2
	 0.006(2)
	 0.055(4)
	 0.007(3)
	0.000(2)
	0.001(2)
	-0.001(2)

	O3
	0.009(3)
	0.055(4)
	0.009(3)
	0.000(3)
	0.005(3)
	-0.001(2)

	O4
	 0.024(3)
	 0.037(3)
	 0.008(3)
	0.003(2)
	0.006(2)
	0.006(2)

	O5
	0.028(3)
	0.026(3)
	0.021(3)
	-0.001(3)
	0.002(3)
	0.011(2)

	O6
	0.029(5)
	0.012(4)
	0.029(5)
	0
	0.013(4)
	0

	O7
	0.034(3)
	0.018(3)
	0.027(4)
	-0.002(3)
	0.016(3)
	-0.007(3)

	O8
	0.035(4)
	0.019(3)
	0.040(4)
	-0.001(2)
	0.021(3)
	0.001(2)

	O9
	0.036(4)
	 0.020(3)
	 0.042(4)
	-0.003(3)
	 0.016(3)
	-0.003(3)

	O10
	0.033(6)
	0.040(6)
	 0.073(8)
	0
	 0.005(6)
	0

	O11
	0.059(8)
	0.052(7)
	0.073(10)
	0
	0.034(7)
	0


Note: The anisotropic displacement factor exponent takes the form: –2π2[h2a*2U11 + ... + 2hka*b*U12].
